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mponn t=0wma.V(t) = (2-1-10) pnnsed mnwn ppon Sv V(t) mynn .22
.pponnYw T =T (t) nynn nxmwn nxxsn . 1 (0) = (00100 n1pra xym
-opT7. W(t) =18c0s3t i —18sin3t |  nNowab yta MmN PPYn Y NsINn .23
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DTN NYIRN NVP
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e
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X=2 x=1+2t
16.)7 = (320)+ (11252)t 16.2y=3t 163){y=1+t 17) M (935)
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1+t
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2)V(t)=w(cosa sinmt,sinasinet,coswt),|V(t) | @
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(L10) 12,0
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V()] | ()|

27.8)(F(Y)- PO) =F'()- PO +TF®)- P B (FOF®) = 'O T+ FOF()
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(F'®)x P®)-h )+ F®)x p'@®)-h () + (FE)x ) -h' @)
V.

10)r=3/cosf 1)r=4cosd 12)r=5/sind
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cavn L (X y)= X2y + Y mspnan My |
X

a) f @-1) b) f(l ,2) c) f(y,x) d) f[1 1] e) f(=x,—Yy)
3 Xy

: NPNPNS DY NITHNN OINNN IR Nsn ]

1.v(x,y):x+\/§ 1O.u(x,y,z):\/a2—x2—y2—z2
2.f(x,y):\/1—x2+\/y2—1 11 f(x,y) = arcsmi
C%.g(x,y):\ll—xz—y2 12.9(x,y) = 5+ X ywlx +y -
\} X2 +y
1

4.h(x,y) = 13.h(x,y) = arcsm—

5.k(x,y)= \/(xz + y2 -1D(4- N y2) 14.v(Xx,y) = arccosL
X+Yy

6.v(X,Y) = \/(xz + y2 —Xx)/(2x - x2 — y2) 15.g(x, y) =arcsinf/ y2) +arcsinl-y)

7.£ (X, y) =41- (X* + y)? 16. f (X, y) =+/sin(x® + y?)
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1g(xy)=x+y 4. h(x, y):(x+y)2 7.V(X,y) =Xy
2. f(x,y) = X2 +y? 5.9(x,y) = Y 8.h(x, y) = e/ +Y")

X

1

3v(x y)=x"-y* 6.f( =" 9f(xy)=1Ix|-]yl

X< +2y

: (2NN OPLYN IN) NPXPNO DY NKPIN NLYN IR NN 1V
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nYPOHN MO V
. MINID DPIPHON 5y NYNI ITON DI DIN IVN

Lu(x,y)=x*+y*—ax?y3+5 2. f(x,y)= i2+ezxy 3.u(x, y) = xsin(@2x+3y)
y
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7. f(x,y) = A+ xy)Y 8V(X, y) = In(x+Iny) 9.u(x, y, z) = x¥/?
10.g(x, y) = *'Y +3 11 f(x,y) = arctan’. 12.v(X, y) = arcsin———
X

13.h(x, y) = (L+logy x)3 14.9(x,y) = In[x+lj 6_g L2 =" ] @2 ="
2x) 0OX oy
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w
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Uz 12) awn
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ynwn oopmn x nen z(x, y) =e¥ F(yeX @)Y onos non 9
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OX oy
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OX oy 0z
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oX oy oz
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14.{y20,y2—2x,x2+y2¢0}u{y£0,y£—2x,x2+y2;tO}
15. y2 =—X, y2 =X M"12190 Yy DIDNN DIPYN WIIWNN
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.1 Xx+y=Cc oY»apn ow 2.c2> O,x2+y2 =C OYwn
3. x% - y2 =C =X :Mamyun MmuvomoN Moy 0PPIY INY MDD NNIVN
My Yy =1EX 0N M
4.c>20,xX+y= \/E O>apn oMW S.PUNIN KDY Y =CX DMWY NNWN
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6.2 + Y

1/c 1/(2c)
7.{c=0:y=0 or x=0} & {C¢Oixy=CZ} M91299°0 NNOWN
8. x? + y2 =C1X (IPYNIN KDD) MYNIN TIT DIIWN DN NN
91x|+|YEc (=21 owan

IV.1L.X+y+z=Cc o%apn oMwn nnavn

2.¢>0, X2 + y2 +7z2=c mmoo nnawm, ¢=0 1y  (0,0,0) nmps

=1,c>0 moasx nnavn

3 %%+ y2 _7°=¢ c<0 My orPNY-1T DOTINAIDN NNOVN
c>0 My o»NYP-TN DXTNHYIIIN NNIVYN
c=0 "My vin

4. x% - yc—-z"=cC c>0 My 0PN P-IT DTINANN NNAVN

€ <0 7y 0PNy -TN DTN NNIWN
c=0 "y vin

5.x2+y2-272=c, cxl+rzk, keZ

6.2X+3y—Z=C; DYapn 0NN NNIWN
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1.8 4 8xy°, u_ 4y® —12x?y? 2.ﬂ 1y 2ye2"y,ﬂ _ 72X oye?
OX ay OX y2 8y y3

3_% =sin@2x + 3y) + 2xcosRx + 3y), % =3xcos@x + 3y)
X Yy

OX
5ﬂ=30xy(5x2y— y® +7)?, M_ 36x2y - y* +7)2 (6x* - 3y?)
OX oy
6 _ 1 _+5% y?In5, a_ 2y2 +59 2xyIn5
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OX ay 1+Xy
gV _ 1 v 1 1009_ e og_xeV
X x+Iny' oy (x+Iny)y X y oy y?
oy A X M __ Iyl N Xy
ox  xP+y? oy x4yl ox x*+y? oy |y|(¢+y?)

oh 3(+log, x)? Inx oh  3@+log, x)?Inx
3—=——T" log, X="—, —=-
ox xIn'y Iny’ oy yin?y

VI
1.dU / dt = 4(2x + z) cosat — 2ye™ + 3xt? = 4(2sin4t + t3) cosdt — 2% + 3t? sin4t
dv _e*(@+2t) x 2+1/t

2. — —=...

dt y y? t?+In5t
3%_2ulnv_£l_m 0Z  2xulnv u®1
©OX y v x2 Y y? V X

4 U _ e +3e'x?
dx e’ +eY
g 07 _ 3 _dZ _3-4x/t*- 05/t _

ot cof@t+2x2-y) dt co(3t+2x%-y)
6.0Z/du=(ysinv—xcosv)/(x? + y?)=---

7. d—U(n/2)=—7r3/8
dt
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@1—x2—y220:>x2+y231

®x2+y2>1

2 2
X“+yc2>1
5 . y ::1£x2+y2£4
x2+y2£4
x2+y2£1
. = MO PR
x2+y224

2,2
X“+y —x=>0

6) . Y :>x£x2+y2<2x
2%4@—y2>0

x2+y2—x£0

. = 7D TR
2%4@—y2<0
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8) x+y<0 y
%
19|Y] <1 [IYHIXI / g
X x#0 /// éé
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2
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16) sin(x2 +y2) > 0= 27k < X2 +y2 < 27K+ 7
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2 .2 y
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C=1
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C;=InC Wy X=0
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y'=?,y=? .xX*+2xy-y?’=a’ 1
y'=?,y'=? .y-2siny=x 2

y'=? .xy’+x°=2x 3
y=? .x'=y* 4

z=f (X, y) nomo mypne nron X2 + Y2 + 22 = a? mxmenny ;M. s

Sy Zys Zys Zy, Zy wan . (00,a) nmpyn nava
Xy
. Z2=g(Xy) nomo mspns nvmn f| —,= | =0 nxnwnw mn. 6
zZ z
0z 0z
X—+Yy—=2zZ nxnwnn N noopn Z= g (X, Y) m8pnany nomn
OX oy
Z(X, y) nmmo mspns NN z° - Xy+yz+ y3 = 2 PNNWHNY PYTa. 7

- Zy D),z @AY awn . 11D nmpinnpava

ININIIDT
ISPNON Y YT N awn
u=x%y+y?z+x%°z 2 z=x°y* -3y + x4y? 1
h=x3y?+1 4 p=Inyx?+y? 3
g=x°y* + xy? -3x%z+ 2%y 6 u=z/(x*>+y?) 5
mpa avn IV
sin32° -tan40° 2 1.002-2.00% -3.004> 1

arctanl'—01 4 J102° +197° 3
098
\V5e%2 4+ 20382 5

TINON NI . VINYTI) IIPD NIV

LA=61 +8] a1 M (11) nnpaa z= X2 — Xy + Y2 m8pnon 5w nmonn NN N awn .1
Jd= (22D yrm M (32D nmpa u=xy?z® mypnan 5w nmdNn NN DX WN .2
3PN o1 M (1) A z= X2 — y? mEpnan Yy mmomn MmN NN awn .3
. X-n 8 YW xavnn Pron oy 60° ot
X2 y2 2
TS+ S+ YW NMOPN MMINY NN 4
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L (010) nmpma (F=xi +y]+2zk ), u=xel"l »wopon nren 5w omern meren 5

mwod M(X,Y,2) nmpa u=
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ALY nmpaa U=Iny/X? + y2 + 2% >79pon nTwn Hw 0INTIHN NN R¥D .6
d4] -9 mu z=sin(X+ y)"M5pon nTwn 5w LNTIHN 1NIW MTIPI N .7
M (211) nmpaa v P U= XYZ »95pon NTen YW 0MNOTNIN DR KYN .8
u=In(x? + y? + %) »bpon NTWN Y MINWNN 8P 12 PP NN RN . X .9
Ymopn X0 M (1L21) nmpa
.M (L2 nmpaa u Sv IMonn NNNN SV 9mOPNRN TIVN NN NND .3

oy o PPN P M (1) nmpna z= X2 — Xy + YZ mepnon Yv miman Nx awn.10

10 TWN O TINPIOP TIW(E 7902 YD TN NYIAPN N NN PP NPNI L XN SN
o1 M (LD AP U= XYz 8pnan Sv mmonn Nnn AN awn.1l

T NTIPIA NPNAN YW LTV YT N . 8 = (COSa, COSf3, COSy)
Mo(—=4,3) nmpnaf(xy)= In(x2 + y2) TPXPNON HY MININD NININ NN N¥N.12
Mg 797 2290 121N P H1INN N

NMPIN TITwN U(X, Y, 2) = 3x? + 5y2 + 22 >15pon nTwn Hv () a7 NVWYH NIN.13
(&) P nowny SN o1 Mg nmpaa u(X, Y, z) mspnon Sv nmon nnn Mg (L -1 2)

Z(X,y) "M YpNa NPT X+ YZ+ Z° =6 nxnwnnw pr1a.14
. (321 nmpannaava
.2y, 32,2z (32 awn «
A= (06,—08) yrm (32) nmma z(X,y) mM¥pNaN 5w MM NNNN IX 2wn 2
- Zyy (32) awm ziy (X, y) xsn

NVYNY NN PIVN NN DINNIYN

VI
Mo(Xg, Yo, Zg) nmpa F(X,y) mspnabw qnd prunn Mwmnn nXIwn N 1IN
2,2 x* - y2
DE(Xy)=x"+y°, X% =Lyy;=2 2)f(X,Y)=T,Xo=3:YO:1
Mo (X, Yo,2Zp) nmpaa F(X,y) mspnadw o HnImn nNnwn NN 2Imd
3) (X, y):arctan%,xo =1ys=1 4) f(x y):y+_lnx ,Xo=1Yyg=1

. M nmpna T(X,y,2) =0 nownd pwnn Mwnn DXNYN DX 21N
5)x?+y2+22=169,M (3412) 6)2X2+2Y'2=8,M (22))
Dappn X2 +2y? +32%2 =21 nowny prunn M NNIWN NN NN 7
. X+4y+6z2=0 Mwnd
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(S): xX*+y*+z°=ax
(S,): xX*+y*+2°=by
(S,): xXP+y*+2°=cz
DXNLWN MW : NWN) DNYY TN MMPY 953 MY Nt ooxn a,b,c# 0 Jwxo

(D9INN DNYY DIYNIN DX DIININN

2+y2

ATPIN TITwN U(X, Y, 2) = »M9pon NTYN v (@) 11D NLWN N8N .9
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l.
2 2 2
12—_6x 8y’ ,8——6x sox2y®, OY _ gy a0xy*
X
2.82p: y2 azp: X2 azp: _Xy
aXZ (X2+y2)3/2 ! ayZ (X2+y2)3/2 ! axay (X2+y2)3/2
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4y = yr-y'iny  y Y —xy*Iny __yy-xiny y_l In x
' x¥ Inx— xy** X yx¥ Inx— xy* X ylnx—x —Iny
x¥=y* = ylnx=xlny (y¢e:>x¢e)
g0z_ x 0z_ y 0’z _ x*+2% d%z_ y*+72* 3’z _-xw
ox  z oy  z' oxl 22 oy v oxoy  7°
7.7, (1)) =-075, Z, (L1)= 025
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i
1.dz=(2xy* - 3x%y® + 4x3y?)dx + (4x%y® - 3x3y? + 2x*y)dy

2.du = (2xy + 2xz)dx + (x* + 2yz)dy + (x* + y*)dz 3.dp= xd;(+ ytily
X2 +y
4.dh = 3x*y?dx + 2x°ydy 5, du = — 22X - 2yzy g dz .
(xX*+y)* Xty

6.dg = (2xy* + y? —6xz)dx + (4x2y> + 2xy + z?)dy + (2zy — 3x?)dz

v

1)108972  2) 0443 {z=sinxtany, dx=27/180,d y=-57 /180
3) 295  4)(z/4)+0015-=0800 5)3037

\
114 2)22E 3)1-4/3 5)ei 6)(155j 7)y=—X+27K k=0+1+2,...
3 333
8) gradu| = (12,2) (cosa, cosp, cosy) = 1 E 2
(211) 1 ’ 4 3'3'3
121 1 2 1 ou V6
9) gradu =|—-,—,—| , (cosa,cosp,cosy)=|—,—,— |, max—(M)=—
gradul (333) ( f.co9) (\/E J6 \/Ej a7
10)%=00505+Sina N.o=2 3.05:5—7[ ).al=3—ﬁ,a2=7—ﬁ
ol 4 4 4 4
1])%(M):005a+cosﬂ+cos;/ , |gradu||N| =43 12) 04
13)3x? +5y? + 22 =12, gradu(L-12)=(6-104), |gradu (L—-12)|=2+/38
197,69 =—1, 7,2 =<, S @)=, 7, =2y2/(y+32)°, 2, 82) =
5’ 125
VI
2 T
x-1 y-1 "4
D)2x+4y—-z2=5 2)3x-y—z=4 3 = =
) y )3x -y e R
z-05
4) x-1=y-1= 5)3x+4y+12z=169 6)X+y—-4z=0
7)x+4y+62:21,x+4y+6z:—21
9)2x+4y—-2z=10
! \/_ ! 2 14 4
\Yill DHF'(0)=10 2H'Q) = 24—— 3)G(O)=§ : G(0)=—§
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7 50N
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S NVNPNON AN W ATOTY) M Py 2220 Mo»L nnow K9 Pno |

1 z(x, y):2x2 —xy—y2 -6x—3y+5,M(1,-2)
2)g(xy)=x’ M (LD 3) p(x,y) = Ing, M (11)

: DPNPNAN AR MW AITOTY) OPNn nnown 2ad nna I

Dfoyiox®—y? g0 g1 4) p=In(L+ X+ Y)

cosy :1—x+ 2y
5)v=e* cosy )u=e*siny  7)g=sinx>+y?) 8 z=@1+x)"1+y)"

DINYN 90N HY NINPNY YV OMIPN) '9PI1Y DINIVOPN
: MINAN NPSPNON MY PPN MNP x awn I

Nz=x>+(y-1)>32 2)z=x?—(y-1)2 z=x?—xy+y>-2x+y
Az=x3+y*-3xy 5)z=2x*+y* —x?-2y? 6) z=1—+/x? +y?

7 z=e*?(x+y?) 8)z=-x?-xy—y?+4Inx+10Iny
VINN DINIVOPN
: D onna mMNan APPNaN MAY PN T IDNIOPNRN TIVN NN YN v
Dz=x-2y-3,D={(x,y):0<x<1,0<y<10<x+y<1}

2)p:xz—y2—4x,D:{(x,y):x2+y2 <9}
3 f =x>—xy+y*,D={(xy):|x|+|yk1}
4)q=2x3+4x%+y% —2xy, D ={(x,y):y=> x?,y <4}

mMvn

) z(x,y)=5+2(x-1)2 - (x=D(y + 2) — (y+ 2)?
2) g (%, y) =1+ (x-) +(x-D(y-2)

3 P (V) =(x=D) ~(y -1+ 05[(x-1)* +(y-1)?]
I

2 2 2 2
i y)=1-"—F g, (xy)=1-"—
2
92(x ) =1+ (x=2y) + (x-2y)%, 4>p2<x,y>=<x+y)—(x+zy)
Xz_yz

SV, (X, y)=1+x+

, BU (X Y) =Y+ XY, T)0u(XY)=xX+Yy?

8) z,(X, y) =1+ mx + ny+@x2 + mnxy + n(n2—1) y?
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) z,,0)=0 PN NNy (0,1) PP MM PR
)z (10)=-1 ) Zyp @D=-1 9o @ (0,0)
5 z,,00)=0, z,,(x05+1)=-1125

o mmpy  (20.5,0), (0,£1)

6) Znax 00)=1  7) 7, (-20) = —% 8) Z., (12) =—7+10In2

V.
Dminz=-5, maxz=-2 2)minp=-11, maxp=21
D D D D

3 minf =0, maxf =1 4)ming=0, maxq=32
D D D D

ININS
L 2 f(xy)=x" M@, f(xy)="f@)+fy@)(x-1)+ f, Q)(y-1)+
et wnix-22 + 2105 @ix-2y-1+ 15, @ply-17]
fo=yxY £y =xYInx, fo =y(y-)x¥2%, fr=x"+yx"Finx, fj, =x¥ In®x
fAy=1, f,@Q)=1, fy@Y=0, f, @Y=0, f,, @AY=1, fy AY=0
f2(x,y):1+1-(x—1)+0-(y—1)+%[O-(x—1)2+2-1-(x—1)(y—1)+0-(y—1)2]
fo(%y)=1+(xX=-D+(x-D(y-2)

V.
Dz=x-2y-3,D={(xy):0<x<1,0<y<1,0<x+y<1}
z, =1#0

D onnn Iina mxymN NYVIP MNPI PN C{Z' 240 N

<

z=Xx-3 =
(CA)DINNN TN NPVMIPN MMPI PR << dz =120 < — (CA) :nov.2a
dx 0<x<1

dz z=-2y-3 x=0
(OB) onnn T2 NPV IPN MMP) PR < —=-2=0< = (OB)
dy 0<y<1 0<y<1

dz z=3x-5 y=1-Xx
(AB) onnn Tina mvupn mmp P <=—=3=0«< d— (AB)

dx 0<x<1 0<x<1
z(0)=z(0,0)=-3, z(B)=z(01)=-5, z(A=z@10)=—2 :0,B,A mmwn MNP .»
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8 JnIn

2190 2LVX
: DOYNLYINND NN avN .1

1 1 1 X 2r a
N) [ax[ (x+y)dy  3) [dx[xy?dy ) [d@[r?sin@dr

0 0 0 x 0 0
A B
f(Xy)=F(xy) awno J.de' f (X, y)dy Smornn nx awn. 2
a b
: TPNTLPNA OITO MW MNN NN 28N ” f(x,y)dxdy 51050 SorNa. 3
D

B(@)),A@0),0(00) ompmpn Sya vown D wrd . X
B(-2,1),A(21),0(0,0) oomnpmpn Sya vown D wnd .2
C0,),B(1,2),Al,0),0(0,0) oonpmpn Sya 1970 D wno.»

X2 + y2 <1 5wy D qwxd .7
x2+y2 Sy 5wy D qwno.n
{(x, y)|y<liy> xz}z D wxo

1< x? +y234 nyav D qwxd v
Xy=-1,y=-X,x=-2,Xx=-05 onpn 5y owonn onnnxn D qwno . n

{(x, Y)|X+y<2y< x2,0<x<2, yZ—Z}: D qwno. 0

DMPTIPN Sya vnwnm (X—2) 2 4 (y-3 2 <1 Swyn 5w gmun onnxn D Aws .o
B (4,0), A(0,4),0(0,0)

DTPTIPN H¥a voOwNM (x—l)2 +(y —1)2 <2 Swyndv gmun onn i D qwno .o
B(2++/2,0),A(0,2++/2),0(0,0)

DTPTIPN DY YHWNPM x2 + y2 <10 Swyn 5w amwn onn NN D qwrd .5

C (5,0), B(-3 - 4), A(-3,4)

: DDI90N DYTNVINI TPNNOLINN ITO 9NN . 4

2 2x 2 2-X 1 % 1 1-x?

N) j dx j f(x,y)dy 1) j dx j f(x,y)dy ») j dxj f(x,y)dy 1) j dx j f(x, y)dy
0 x -6 (x*/4)-1 0o x -1 1%
2 Jox—x? 2a  +2ax e Inx

n)jdx jf(x,y)dy 1)_[dx jf(x,y)dy (a>0) t)jdxjf(x,y)dy
1 2—-X 0 2ax—x2 1 0

: DINAN DYNLVINDN NN AWYN . 5

x=1 m y2 =4X 191190 vy oon D AwNo ”xyz dxdy .n
D

dxd
Y3 DHyNn DY NINPN NYPM MOLPTNNXIPN Y PN My N D 9wNd ” y .
.(2,2) nmpa womw 2 ovTIN
Swrta womw (@a>0)  a ortin Yya Sy D oqwno ” | xy|dxdy .»
D
myosn noya moapn D qwno ” (x2 + y2) dxdy .7

D
(a>0),y=3a,y=a,y=x+a,y=x
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S TPYMOPRD MNDN DX AN NPIA0P MORPTNNIPY N2y ” f(x,y)dxdy 91950 YorNa. 6
D

(a>0), x2+y2£a2 5wy D wNd . N
(a>0),x2+y2£ax 5wy D qwno .3
(O<a<b), a23x2+y2£b2 nyav D wxd .
{(x,y)|0<x<1,0<y<1-x}=D Awno.7

(a>0), {(xy)| (®/a)<y<a, ~a<x<aj=D ww.n
{(x,y)|1£x£2,x£y£\/§x}:D IWUNI )

(NPAVP MOPTNNIPY J2YN 7y awN . 7

a) ” X2+ y? dxdy b) ” siny/x? + y? dxdy

2 /4 SX2+y2S4ﬂ'2

: DONIN DDNVOVINN NN VN . 8
X2 y2
a) [[ (Ix|+lyhdxdy — b) [[ [1-=5—=5dxdy
Ki+lylst 2 y? a® b

x°+y?<a

—+—==<1
a2 b2

X+y=25 xy=1»y own D wx> C) ”xydxdy
D

¢ DNRNNA OXNIN ODNOIND DNY DPNNY DANN NN MY .9

1 1-x 2 2
of [dx [(+y?) dy 92 [[ (x+yyaxdy 93 [[ 41~ —L dxay
0 © 0<x+y<1 X Y 4 9
x>0, y>0 =
94) [[ 0 +y*axdy 95 [[ yx*+y?dxdy
KHlyl<1 X2 +y?<x

: DNIN DMIPYN Y DMONN OMINNN PNHVY DX avN .10

N)x+y:2,x2—4y:4 :1)xy:a2,x+y:ga,(a>0) 3)x2+y2:2x,y:0,y:x\/§

T) X+y=3, y2:4x M) x2+y2:1, x2+y2:4,y:x,y:x\/§,(x20)

D)) X2 +4y2 =16 ?) y2 =2X+1 ,y2 =-8x+16
: DNIN DNVYNN 7Y DINONN DXAVN N NN 2wN . 11
111) z=1+x+y,z=0,x+y=1,x=0,y=0

112) x+y+2z=3,z=0,x>+y2=1,x=0,y=0, (x>0, y>0)
113) z=0, z:x2+y2 ,y=1, y:x2

f(Xy)=y miannn mooy oN {(x, y|y<l, y> XZ}: D nmann Sv nonn nx awn . 12

mMvn

1. N1 1)1/40 ) za%/3 2.F(A B) - F(Ab) - F(a B)+ F(ab)
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2 DMODN N NN

3.
1 x 1 1 2 1 2y
N)jdxj f(x, y)dy:jdyj f(x, y)dx 3)[ jf(x y)dy + _[dx jf(x y)dy = _[dy j f (X, y)dx
0 vy 0 x/2 -2 -x/2 -2y
X+1
;)jdxjf(x y)dy = jdyjf(x y)dx+jdyjf(x y)dx
0 0 0 0 y-1
1 V1 1 Ly
) fox [ fooydy=[dy [ f(xy)dx
R I v
12 05+/025-x 1 Jy-y 1 Jy
n) jdx _[f(x y)dy = jdy jf(x y)dx ) _[dx_[f(x y)dy = jdy _[f(x y)dx
-1/2 05-+/025-x* 0 _m -1 X2 0 -y
1 Ja-x Ja-x? 1-X° 4-x°
3 _[dx jf(x y)dy+_[dx jf(x y)dy+_[dx jf(x y)dy+jdx jf(x y)dy
-2 Jax -1 J1-x 1 _Jax —Ja-x
-1 —x -05 -1/x
n)jdx jf(x,y)dy+ _[dx jf(x,y)dy:
-2 -1/x -1 —x
2 -05 1 1y 1 -05
_jdyjf(x y)dx+ [dy [ f0xy)dx+ [dy [f(xy)dx+ [dy [f(x y)dx
1 -2 1 -1y 05 -2 05 -y
X 2-X 1 2~y
o)jdxjf(x y)dy+jdx j f(x,y)dy= _[dy_[f(x y)dx + jdyjf(x y)dx
-2 -2 0y -2
2 4-x 4-y
Mdx [ F(xy)dy= _[dy [ f(x y)dx
1 3-4x-x*-3 2 2-[6y-y*-8
1 L1+2x-% 2 2+/2-x 1442 2+/2-x
g)jdx jf(x,y)dy+jdx jf(x,y)dy+ jdx jf(x,y)dy
0 0 1 0 2 1-12x-x®
1 1% 3 (5-x)/2 V10 +10-x
b)_[dx jf(x,y)dy+jdx jf(x,y)dy+ jdx _[f(x,y)dy
-3 —J10-% -1 (x-5)/2 3 1%
4.
2 y 4 2 0 2yy+l 2-y
N)jdy j f (X, y)dx+_[dy j f (X, y)dx 1) _[dy _[f(x y)dx+_[dy jf(x y)dx
0 vy/2 2 yl2 -1 -2,y+1 0 -2/y+#1
1 3y 0 1y 1 -y 1 11-y?
J)Idyf f(x,y)dx ) _[dy _[f(x, y)dx+_[dy jf(x, y)dx n)_[dy _[f(x, y)dx
0y -1 -1y 0 -y 0 2y
2a 2a a —yai-y? 2a 1 e
) _[dy _[f(x, y)dx+_[dy jf(x, y)dx+jdy _[f(x, y)dx 3) jdyj f (X, y)dx
a y2/(2a) 0 y2/(2a) 0 atfa’-y* 0 ¢
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16v2 a*

5. N)32/21 g 10v2 ) — 1)14a*
) 2) 3 ) 5 )
6.
2z a 712 acosd
N) _[d@_[f(rcos@,rsin@)rdr 1) Ide Jf(rcos@,rsin@)rdr
0 0 - 12 0
2z b 712 1/(cosf+sing)
3)_[d0_[f(r cosd,rsing)r dr T) Ide _[f(r cosd,rsing)r dr
0 a 0 0
37 a T asing asiné
4 sing 4 coL 0 7 co 0
n)_[de _[f(rcos@,rsine)rdr+fd9 If(rcos@,rsine)rdr+ Ide If(rcos@,rsine)rdr
0 0 0 3 0
4 4
713  2/cosh
)) _[de jf(rcos@,rsin@)rdr
714  1/cosd
7. a)27a%/3  b)-67° 8. a)4/3 b)2rab/3 c)113778—ln2
10. N)64/3  1)a (%-mzj )1+£ 1)64/3 m)z/8 )8 1) 203
3r 2
11.1. 5/6 11.2. 73 11.3. 88/105 12.m=038
NN

11 1 v 1
1. N) Idxj(x+ y)dy = _[(xy+ y2 1 2)‘ y_()dx:_[(x+1/2)dx:
0 0 - 0

1 X 1
2) [ dx [ xy®dy = I
0

x? 0

.1
dx:—I(x4—x7)dx:...

3

y=x* 0

3

27 a o . s a L
A)_[defr sin Hdr:?Ism fdo=...

)dx = JA'(F)Q (x, B) = Fy, (x,b))dx =

a

2. jdxjf(x y)dy = Idxf ) yay= I(
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5. N)”xy dxdy = Idy ny

-2 24
2l

dxdy J%dx\/z]'f dy

2—/4x— x>
Ja—x

O =N

a Jéfggf
3)”|xy|dxdy 4dex Idy

D

-r)”(x +y?) dxdy = J'dyJ'(x +y?)dx
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a y-a
” X% +y? dxdy = _[de_[rrdr
x+y 2492
1) ” siny/ x? + y? dxdy = Tdezfrsmrdr
7r2<X2+y2<47r2
8 a) [ (Ixl+lyDdxdy=4 [[ (x+y)dxdy= 4jdxj(x+y)dy
Klyl<1 x+y<1
x>0, y=>0
x2 y2 2z 1\/_2
b) ” 1—?—b—2dxdyzj;d¢9.([ 1-r2 abrdr
¥+b2<1
X= arcos@y brsing
2a  25a-x
10. 8) S= jdx jdy 1) S:J'dx J'dy
6 X : a*
4

X
713 2cosh 3-y

3) S= jde jrdr 1) S= jdyjdx
0 0 2

¥y
4
1_

111V = dej(1+x+ y)dy

112.V = ” (83— x— y)dxdy = ”jlzdef (3-rcosf—rsind)rdr
0

113.V = Idxj(x +y?)dy 12 m= ”ydxdy J'dxj'ydy

-1 X

-1 X
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YYD DNVIN

: DWVYOIVNN DYNVIND NN awn . |
”I (2x -y +3z)dxdydz .1
T

X=0,x=4y=0y=22=0,z=3 onownn vy oyon T oInnn WX
” z?e*Ydxdydz 2
7

X=0,x=1Ly=0,y=12=0,z=1 onownn »y owon T oinnn x>
y= Jx, y=0,z2=0,X+z=7x/2 oonownn»y oon T oINnn IWN ”jycos(z+ x)dxdydz .3
T

z=xy,z=0,y= X X=1 onownn »y oon T onnn Iwrd _[”xyzzsdx dydz 4
T

5

X+Y+2=12=0,x=0,y=0 oonownn >y oron T oInnn IWwnd ”j dxdy dz S
L l+x+y+2

: DN DNLYNN 7Y DIMDN DAMNN N NN awn . I
z=x>+y?%, z=2x> +2y%, y=x,y=x> 1
y=x%,y=1x+y+z=32z=02
i
x=0,y=0,z=0,x=2,y=3z=1 onownon >y owonn T qn v nonn nx awn. 1
f(XY,2)=X+Yy+2Z myay Ox

X% = 2y, Y+ 2z2=1,2y+2z=2 onvownn >y ownn T 90 Yv Nonn NN avn. 2
f(X,y,2)=y mo»ay ox
NPT NI MOPTNNIP
z=z,y=rsind,x=r cosd 2(r,0,2) ny595 MOLPTNNIP NIWN
Z=pCoSp, y=psindsing, x= pcosdsing :(p,0,p) nPNTI MOPTNNIP NIIWN

£ TP HY NPIOIP IPNTI, NPV MOLPTNNIP NX WA . IV

(X, y,2) |(r,0,2) |(p,0,9)
1| (0,1,0)
2 (1,0,0)
3 A,z /2,2)
4 V2,-712,712)
5|(-10,-3

TIVMIND NNNIVN YIAP IV, MNIN MY IR MNOPNRN MTIPIN GOIND NN IND R3 1.V
292070 .ANNYNN MIXMND

1r=2 2¢9=rxl4 3.p=3 40=0 B5¢=rxr 6.z=r T.z=r2

r=2 =5 =713 =5 =2
8 9.” 1047 117 1217
z=3 z=5 O=rl2 ¢ =087 O=rx
MY MTIPIN DY QDIND NN PN MNIN MXNYHN NN MNOPHRN MTIPIN GOIND NN IND R3a.vI
(DPILIPY NPNTI, NPD5 ) MINKRND MO TNNIPN MIIWYN

1.r =2cosd 2. p=2C0%p 3.2=0 4.r=4 5. pcos@sing =3
6.2x+ 3y +5z=11 7.2=r?>  8.p=xl4 9.x%+y?+2z%=4y
10.4r2+922=36  11.z=10 12x?+y?-4z°=1 13x*+y?*-4z*=-1
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Y2IYN HVLIYNI DNINVN NAYNND

: DOVYOIVNN DYNVIND NN avn . VI

wy owon T onnn wNd ”jxyzdxdydz 1

(x>0,y>0,z>0) x2+y2+22=lz=0,x=0,y:0 DXNOLYNIN

72 =x?%+ y2, z=1 onownn »y oon T DINNN IWND J'”\/xz + y2 dxdydz .2
T

X% + y2 +72=9 nownn »my own T onnn W .”.[XZ dxdydz .3
T
{x2 +y?<2x,y>0,z> O,ZSB}:T IUND m'z X% +y? dxdydz .4
2 2 2 2
;_+;)/_2+(Z;__1 nLWNN 7y 0N T DINNN WK IH(—Z Z—z 2—2) dxdydz .5

_[dx _[dy _[zzdz.é

: DNN DXNLYWHN Y DIDN DDVN N NN avn . VI

z:x2+y2,z:\/m 1
2:6—x2—y2,z:\/ﬁy2 2
32:x2+y2,z=m 3
2z2=x%+y%,z2=43-x-y* 4
2z=x*+y*+7> 5
on X% + y2 =4,z=0,z=3 onownn »y owonn T qn Sv nonn nx awn. IX

f(xY,2)= X2 + y2 moay

manvn
1 5 7% 1 1 5
. 1)27 2)—(e-1 )—-—— — 5=In2-—
) )3( ) )16 2 )364 )2 16
. 1)V=i 2)V:ES lm.1)m=18 2)m=%
35 5 35
V.
(X,y,2) (r.0,2) (p.0,9)
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VI.

(X,Y,2) (r,0,2 (0.0, 9)
1 | x®+y?=2x r = 2cosf p=2cosd/sing
2 |x2+y2+22=2z |r=+2z-7° p =2C0Sp
3 |z=0 z=0 p=rl2
4 | x*+y*=16 r=4 psing =4
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r r AB  BC CA
2 71
i 7 Ok
= a 8 8 2 ’ ! ! ! !
rOtF=& a—y E=(Ry_QZ’PZ_RX’QX_Py)z(_Z’]’_l)
P Q R

ABC:3x+2y+62:6:>ﬁ:; (3826),n rotF_—17O

3X+2y+62=6= ds:‘/1+%+%dxdy:gdxdy

§|E. :”n rotF ds= _”— ds _”—E) ax dy———_” dXd-‘/“g 3_22
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